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Answers and commentaries 
 

 
  
Question 1 
Using your understanding of the historical context, assess how convincing the arguments in 
these three extracts are in relation to the issue of female emancipation in the years 1903 to 
1929. 

[30 marks] 
 

Mark scheme  
L5: Shows a very good understanding of the interpretations put forward in all three  

extracts and combines this with a strong awareness of the historical context to analyse 
and evaluate the interpretations given in the extracts. Evaluation of the arguments will 
be well-supported and convincing. The response demonstrates a very good 
understanding of context.                                                                                                   25–30 

 
L4: Shows a good understanding of the interpretations given in all three extracts and  

combines this with knowledge of the historical context to analyse and evaluate the 
interpretations given in the extracts. The evaluation of the arguments will be mostly 
well-supported, and convincing, but may have minor limitations of depth and breadth. 
The response demonstrates a good understanding of context.                                  19–24 

 
L3: Provides some supported comment on the interpretations given in all three extracts  

and comments on the strength of these arguments in relation to their historical 
context. There is some analysis and evaluation but there may be an imbalance in the 
degree and depth of comments offered on the strength of the arguments. The 
response demonstrates an understanding of context.                                                  13–18 

 
L2: Provides some accurate comment on the interpretations given in at least two of the  

extracts, with reference to the historical context. The answer may contain some 
analysis, but there is little, if any, evaluation. Some of the comments on the strength of 
the arguments may contain some generalisation, inaccuracy or irrelevance. The 
response demonstrates some understanding of context.                                              7–12 

 
  

Please note that these responses have been reproduced exactly as they were written and 
have not been subject to the usual standardisation process. 
 
This resource is to be used alongside the A-level History Component 1G Challenge and 
transformation: Britain, c1851–1964 June 2022 Question paper and inserts.   
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L1: Either shows an accurate understanding of the interpretation given in one extract only  
or addresses two/three extracts, but in a generalist way, showing limited accurate 
understanding of the arguments they contain, although there may be some general 
awareness of the historical context. Any comments on the strength of the arguments 
are likely to be generalist and contain some inaccuracy and/or irrelevance. The 
response demonstrates limited understanding of context.                                              1–6 
 
Nothing worthy of credit.                                                                                                             0 
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Student responses 
  
Response A 
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This is a Level 4 response 

The response identifies the main argument of each extract effectively. However, for 
Extracts A and B, the assessment which follows immediately after is not precisely focused 
on these main arguments, being rather too much of a line-by-line, fact-checking approach. 
However, the assessment of A and B then improves to provide balanced evaluation 
supported by some well-selected evidence. The assessment of Extract C similarly shows a 
good understanding with some contextual support, however it lacks balance. The 
conclusions on all three extracts are limited, amounting to little more than a brief 
summary, and not focusing precisely on the question ‘how convincing?’. 
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Response B 
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This is a Level 3 response 

The response does not identify the main arguments of Extracts A and B effectively.  As a 
result, the initial deployment of contextual knowledge is not wholly convincing in relation 
to the question or the arguments of the extracts. The assessment of both A and B does 
improve to an extent through some engagement with the main arguments, and a hint of 
balance in relation to B, but contextual support is thin and not wholly convincing. The 
main argument of Extract C is effectively identified, however, the supporting evidence 
lacks depth.   
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Question 2 
‘In the years 1851 to 1873, all social groups within Britain benefited from the impact of 
economic growth.’ 
 
Assess the validity of this view. 

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the             21–25 

question. They will be well-organised and effectively delivered. The supporting 
information will be well-selected, specific and precise. It will show a very good 
understanding of key features, issues and concepts. The answer will be fully analytical 
with a balanced argument and well-substantiated judgement.  

 
L4: Answers will display a good understanding of the demands of the question.          16–20 

It will be well-organised and effectively communicated. There will be a range of clear 
and specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

 
L3: Answers will show an understanding of the question and will supply a range of     11–15  

largely accurate information, which will show an awareness of some of the key issues 
and features, but may, however, be unspecific or lack precision of detail. The answer 
will be effectively organised and show adequate communication skills. There will be a 
good deal of comment in relation to the question and the answer will display some 
balance, but a number of statements may be inadequately supported and generalist.  

 
L2: The answer is descriptive or partial, showing some awareness of the question        6–10 

but a failure to grasp its full demands. There will be some attempt to convey material 
in an organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist. 

 
L1: The question has not been properly understood and the response shows limited     1–5  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment.  
 
Nothing worthy of credit. 0  
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Student responses 
  
Response A 
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This is a Level 5 response 

The response demonstrates a very good understanding of the full demands of the 
question, covering a range of relevant points across all classes and regions of the UK to 
achieve a balanced assessment. Supporting contextual knowledge is well-selected and 
specific in every paragraph, and the response shows a strong grasp of key features and 
concepts. Overall, this essay achieves substantiated judgement by building a coherent 
and balanced argument from the introduction through to the conclusion, supported along 
the way by excellent factual evidence and conceptual understanding. 
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Response B 
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This is a Level 3 response 

The introduction is not convincing, however the following section on improvements to 
agriculture, and therefore to the lives of farmers and the working classes, is effective at 
answering the question, showing an awareness of some of the key features and issues. 
However, the second half of the essay is dominated by content on economic policy and 
developments, which is not effectively focused on the question. This content is unspecific 
and lacks precision. There is a hint of balance just before the conclusion but this is 
inadequately supported and not developed. 



Copyright © 2024 AQA and its licensors. All rights reserved.

AQA Education (AQA) is a registered charity (registered charity number 1073334) and a company limited by 
guarantee registered in England and Wales (company number 3644723).

Registered address: AQA, Devas Street, Manchester M15 6EX.

Get help and support
Visit our website for information, guidance, support 
and resources at aqa.org.uk/7042

You can talk directly to the History subject team
E: history@aqa.org.uk

T: 0161 958 3865


	7042 History 1G Answers and commentaries v1.0.pdf
	A-Level History 1G (7042) Answers and commentaries

	G02499 Subject answers and commentaries covers.pdf



